S u M Po v Third party verified

. E p D Environmental Product Declaration
)

JAPAN Confromance with

VERIFIED 1ISO14025 ‘ 1ISO14040 | 1ISO14044
SUMPOEREINIL O3 L (SUMPO EPD)

R
DAIKEN it

TEKWOOD E:@#(UF17) / BEm
TEKWOOD Regular (Type U) / Normal type

EHRES A=Y = ~FA IREEE S EARE EPDYM1S
SuMPO-EPD-2512-35-1 2025/12/15 2025/12/25 2030/12/14 JIV-THREPD
HEFSNESABTRARA
BRI EPDIREEMARITHOTE, ERE LI ABANRILEBBIENBYET,
EPDDEFRE LUB M IEZRER T BICIEUA T ERERL TS,
1SO21930:2007

https://ecoleaf-label.jp/epd/search



ZB&ES) SUMPO-EPD-2512-3¢ SumMPO

..E PD

Environmental Product Declaration for TEKWOOD Regular (Type U) / Normal type

VERI F IED
Q@ E KB
> 095 L1ER
T095 Lh&FR SUMPORRIEINILTOI T s
TOIILARL-9-  —RREEEAYRAT IR EHEERE
FR7E#h EREFFREXA#HET-14-8 KANDA SQUARE GATE 4F
AWUENS https://ecoleaf-label.jp
> GPI-PCR{E#
GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCRE& R AN - AREME (R
PCREFRES PA—121000—CF—O1
PCRERE H 2023/11/17
N _ K% =
ri-KxIEE .
VETRIERR (TR) o . it B A Y AT IR R
PCREZNEABR 2028/11/16
PCREITH — A BLEAY AT F IR S HEE S
> WREEE R
1ISO14025 K% (MSO21930:2007 ICHE - T= 58 = E AR EE
- w O RER W AR
BRALOER g MEACES L RERMCES  EPDYATAR
= HIREE B=HIREE [ChBE=EIRETF
wiEEREE FTE) Rt BHE (RRFEKXF)
> FERLIRE
B 1SO14040:2006 B 1S014044:2006 [J 1SO14067:2018
IR B 1SO14025:2006 B 1S021930:2007 [0 1S021930:2017
[J EN15804+A2 [0 EN50693:2019 [J ISO/IEC63366:2025

EPDICEEHOIEHR RV EPDICRREHOIERICE T ZBRIBET RICOVTOEIFFEPDEVSEEENISEET, EPDOARICETEIRA S, BREEDOV
TIL. EPDEVEEEELTEMVEDELEI,

EPDOLLER(SL, BREAOEEEZ T2 (CEEBLE L TRBEINBINEESEWED, BRERICBIZEFOII1IV1II2FEEEL, BRERICH
WCRIEOABERELEYFTUAEERLTVZHEDHYET, EPDOLLBORCE BINEREFAETEMERTIPCRESIBL T,

EPDh‘EEEu(LEDL\ZL\é% . HEERIMEEE IS LY TITONRINEBY E A,
2R B TS RR S ECHNIARIETT, MIBOASSLVBEAOR B —BIERIUSNELOTHBYE A, £, BELLRIELES

NG)?—JM’J?&%&@“UH(%?PK%I? (FfEZBBLT\ANE) ( YAVFHE GREPABICENLTOREBERETNE) 2EHERIEOTEHYIE

Ao
MEVIIEHWVZETEDRE . 71 IT1 7B HERE R MU T1ITTIIIAYRY MU HBEEE R, RE2YEEFEHR, B AJ0-ICRT 35815
[F. BEOHEZIIOVTOBERTEHYETA.

OEPDEVSEEEIEIR
E#xs . mEs  DAKENKAAH ABEEMIE

EFT EREBFREXAHEAS-12-8 EARESERERC)
FLNEDhEE 03-6271-7630
LCAEEXEE (FTE) HPHxE rxsttoy))
%%WE:

. EMEE AKEERVILVMERZEMERL. EEMOSWEMER R 1214t
2 BMEE EEHNOAH BEMRICEIICERMETAEZ S REMER R 1214
3. IVIZTUVIEE EMORHHISHEIETCEEIVUENYILICHR-k

EERERE


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

Z$%ES) SUMPO-EPD-2512-3¢ SuMPO

Environmental Product Declaration for TE| / ‘. E I . R

VERI ;1
| ERTA T
BB TR TEKWOOD E@US 1Y) / BE &
S @mnE -
ke  BEMILUERINZAMELUREMRIDRE,
8.0 1 BEEE  736.0kg/m3 mERE -

SHROAE RE-MR, EFM-BE, RETH, P75, B RASBZOME,
HATERE AEmNYOJOREICHETS,
FH 2%
N FREZE AHEBERERESSICEEARONT . RMEOBRARIELTER
R KRiE-ERBIEEOEY (EHB-EEA0E0) OMAEHRERFEL. MAEHPR
SEHAREIRTEDTEAGLY, B - BEf T E RS EEEEOMAEHEK]
BEYA (BERSR) NL-Y7IH

[REBIITORBEMMEIR (MDF) T ENLDEREN - TAMEREREL, I 2

=
RS B - BB RIS B CENNZEM,
EITTHA+ https://www.daiken.jp/industrialmaterials/mdf.html#

ORI RUMEBEICEI 2B ESR

BRERER S (%) BE
N 70~90% 515~662 kg
EER By 1~30% 7~221 kg
K5 5~13% 37~96 kg
ZDft 0~1% 0~7 kg
AEMEBRESR EE (%) BE
OLEYHRXRESHE
IHH EBE (kg-0) EE=E (kg-CO: eq)

HmbYDEYHERRERE - -
RUETICDIZDEREMOEYHERRERE - -


https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html

ZB&ES) SUMPO-EPD-2512-3¢ SUMPO

AAAAA

Environmental Product Declaration for TEKWOOD Regular (Type U) / Normal type .. E p D

YVERIFIED

OLCA BEIBHR
>EPDY1 /&R
BEIM1T O B B J-TRS O RIS
EPDYATS  YALIAT B SFEYAL O #\BHEY -
FRAE O $EE B NEFHE O k(& O ERRE
Hh IR A i B J0-1\b

EHE R AEHY A MESD AEPD TN REREEELTVIRTOEEYA MBETF-FINEE{T>TW\B5. EPDICH
EPDICEIIBREMDHA ($3REMFIBIREINTVS,
5 1] O 3 A
*fi%;fﬁ;;f;g HEBBOHEI L. BEORLSLGHEET B, EHE AL LTEUHS
N MR HOOESHEM (m3) HLYOBEHERRITAA, BENETH>TEZELLLS,

L TFIE(CBE Y BERAR
A O EPDD S %EZ%%II@E:*MK ?Lﬁh“iaé%é\b“%étw\ EEHE (m3) HEYDEEEICE
DNEFEZRAVWCEELE,
> LCABEIE R
EEHM SR 1m3&HY
EEEMYLYOER
HAETO- (MEEHEMEHETTD
[CHERSE)
JAT LIRS B Cradle-to Gate [0 Cradle-to-Gate with options | [ Cradle-to-Grave
LCAYT~I1T MIiLCA for EPD Ver3.2.0.0
LCIT=9N-2X IDEAV3.1
L ET IV SURZH) IPCC 2013 1004, ZDf LIME2
Z0MONYIISIVRTF-4 -
ZRT-IRE GPICHREDZRT-I @EEHmELET- IRV TEEE{TO,

—RT-FINEMSE NL-YTIH

—RT-FUNEHR  2024F48 ~2025%3 8

Y RFRFORYELN W 0/0770-F O -1/+1770-F
5E B EvPgoFINaENIVI O Z0fts

BHEKIC EH| -

792158k BEAH -

7T -

> B I SRERRE
A= %
> Ij‘%:}'b]:b I JUEE 73 JLEE gg
MBS TR S P AR BB A
Al A2 ‘ A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 c2 C3 C4 D
B I i) I ﬁn -3 -3 ﬁ
% | B B it T " é =R S
BoA B oA B o® B B E R LT B @M
O & 0 I B #® & 3 & | - ()N )] -
"% % % o LW B @
Z | % 5 = s B L
=R - - - - - - - - - - - -

B EENR - EENRS



R &ES) SUMPO-EPD-2512-3¢ SuMPO

Environmental Product Declaration for TEKWOOD Regular (Type U) / Normal type .. E I:,,Q

VERIFIED

>70r-v3y

AEFETE. GPICREHOFIETCTOLAOM ML LU T7O0-T—-v3avE&s U,
T-ARENKROTIHCRMBORRZERELTEY . HREZOADTOTAT-FINEET B ENHETHRIENS, IR
MERVHEEZOEEREICLIIMEETOT-VIavEERLE,

>Ny hAT

PCROAY MATEAE[CEDE, Ny bATZEIToT,

>YATLIRR

GPIRUPCRIZEDE, WHROFIIHAVIERBEIEMELERE (EV1-) : [MIEMRIOFE. [A2] THBAQEX,
[A3)4E) &LT, BRIRYATAERE100ETHB,

>IFUA
TVa-)b £t BA
A2 A3 —RT-HDUNEN R RE K- BEYOEHEXTOTRICDOVNTIL, BENXIEE R UEEFER - BEHED

WT, PCRODB1. EnkEpst, B2. X FEBIUOBEER Y FUAZELKRELE,



SuMPO

Environmental Product Declaration for TEKWOOD Regular (Type U) / Normal type ey
VERIFIED

R &ES) SUMPO-EPD-2512-3¢ E p D
o

>BHETIVY

WRETZETOIMIITFATIERBEICENT, 2015F(CHIFRANL-VTOAEEHDT-IE2BAVNTEEETo .

>317917)70-F

‘ L RF LBR || [ s=7ammn
A1-A3 A4 - A5 B1-B7 C1-c4 D
\ P ] ||| mrem || wmem | meem ||| seocaweems
Al A2 A3
| |
MDFEGE

g S g B ey B e B gt W gy

HEMKR HEHNRN HENKRSN HEMRN

[GF2))]

[ BAY - U - BEY ] ‘ HERRIO+E2 i BERRATOLZ |




BHES) SUMPO-EPD-2512-35-1 SuMPO

Environmental Product Declaration for TEKWOOD Regular (Type U) / Normal type ‘. E pﬂg
VERIFIED
OEERER
>J17Y1 7 )V R E TR
imismEz [A2]&%  [A3]&E D BRI
SUEZEE) kg-CO.eq  2.83E+02  2.34E+01  3.84E+02 -
AV ERRE kg-CFC-11eq 4.15E-05 | 3.14E-10 | 1.81E-06 -
7324 kg-SO.eq = 2.85E-01 = 6.53E-02 | 2.49E+00 -
I ATUE R kg-SO.eq | 2.02E-01 = 2.69E-02 = 1.91E+00 -

FHALEAFIIVNERK | kg-CcHaeq  1.31E-02  1.40E-04 = 4.69E-04 -
BEEYWEFENIAM)  kg-CeHseq - 9.32E-02  1.16E-04 = 2.75E-02 -
BELCEYE(EM) kg-CeHeeq | 7.67E-03 = 7.56E-05 = 6.02E-04 -

KEERES kg-CsHeeq = 2.00E+01 | 3.72E-06 = 1.54E-01 -
P4 REE M kg-CsHseq | 1.30E+02 | 6.15E-05 = 4.05E-01 -
ERE kg-PO.*eq  1.77E-01 = 2.41E-10 | 6.61E-05 -
=+ Hu ] A (HERF) m%/£ | 2.26E+03  3.09E+00 = 1.01E+00 -
T A AR (BRE) m?/ 2.73E-01 | 6.17E-02 = 2.11E-02 -
BRHE kg-Sbeq | 3.07E-03 = 9.74E-05 = 1.15E-03 -

>F1TY1IWAIRY M) 3 IRBIEEER

wosssme [A2]Ex  [A3]&E D ‘RN
FBERRER kg | 5.67E+00 2.35E-05  5.12E+00 -
FEFERREIRIF- kg = 1.51E+02 7.14E+00 1.59E+02 -
FEBERREIRILY - MJ | 6.50E+03 | 3.20E+02 | 5.59E+03 -
BEAREER kg @ 6.88E+02 5.97E-06 2.20E-01 -
BEAREIRILF- MJ | 1.91E+02  8.13E-03 | 2.19E+02 -
HIKDHE m® | 2.10E+03 = 4.78E-04 = 5.36E-02 -

BEH, CO2(t RERHRXE), K=, NMFE kg | 2.65E+02  2.24E+01 3.43E+02 -
BIR, BU, 44.7M)/kg, Bets, JEBARTAETRILE- kg 1.20E+02 | 7.02E+00 @ 9.44E+00 -
BEH, BERUEEELEY, XK, FNEE kg 1.13E-06 = 1.84E-13 @ 3.62E-08 -

> BEEYEEER
osmsme [A2]Ex  [A3]&E D BERA
BERZEY kg - - 0.00.E+00 -
BERZEY kg | 2.84E-01 2.03E-07  1.03E+01 -
—RFEEY BiIY kg | 5.10E-09 @ 3.28E-16 = 7.32E-02 -
EXRZEY BiY kg = 2.84E-01 2.03E-07  1.02E+01 -
KIMTH1IWIIBII2BEEDELRLTVNET,
>HAHI70-ICEAT2IRERR
mmsmz [A2]Ex  [A3]&E D EHRH
B AR e ERm kg - - - -
YY1 IV A kg - - - -
IV F-[EUR A kg - - - -
BEZEYMHCOBEEIRIF -

S, MJ - - - -
(TFRIF-EURENE 260%)
RRUOKEN | gmwpammns® | kg - - - -
(T F B

;;g < 60%) E”XI*JI/:F“_ M.J - - - -
BRI T
I N _ } -
(EEpoELy RLIAAR | kg
YRS BT AN )
EYRIRILF- MJ - - - _

SOIRILF-[EUR)



237 |S) SUMPO-EPD-2512-35-1 SuMPO

Environmental Product Declaration for TEKWOOD Regular (Type U) / Normal type .. T AR AN
VERIFIED

> LCAEERERICEAT55%RR

AERBEEA TS TRESIN TR, BFTREFE, SL&ETO0vAICHIFZREMICDONT, IDEAVZ.1ZFALTWS 5, B
AUNOWTUIEARZFIRE LEREMZFERALTNS,

R RERELICOVT, REBICIELEEANSTELTVZEMEBEET 1. 2225 BN THY., 3R
T-HDIBBEIFIRETH>0. 2 TELEERNTHELTVZEDLIRELTEEEZEMELE,

Q@ ENNIRIEHEIR
> LCAICEEL BB INEEIRIEIR

IRBTBEGPCRIMEEF AM - KEMBHORFFBERE)JCEIVTEELLER MRRMEIM3HY1.05t-
CO2&L R0l

>HBEEYECRETSIER
EEYEL CAS No. BARAINZEEX(IRE 0SB
RIVLTITER 50-00-0 tEMEDEESLVEEE(CRIT 35, YRR LBIEE

BEMBLUOBRE BN SOERYEOK

ORFENER

@ ZE Xk

-1SO14025:2006 Environmental labels and declarations — Type lll environmental declarations — Principles and
procedures

-1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
-1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines

-1SO 21930:2007 Sustainability in building construction — Environmental declaration of building products



